Interfaces Mark Scheme

1. (a) - Choices offered to the user…
- restricted in number…
- leading to further menus.

(1 per -, max 2)
(2)

(b) - Easy to use (even by non computer users)

- Simple to administer (bus changes…)

- Can be made to fit the data structure (use of a tree)

(1 per -, max 2)
(2)
2. - Restricts access to computer system
- Helps customer to determine what they want…

- because choices are given at each stage

- Example fits a tree structure for the information.

- Easy to operate / suits a touch screen.

- Easy to test

- Results are predictable

(1 per -, max 4)

(4)
3. In each case, the suitable use stated is an example.

(a) - Prompts operator for inputs / Specified areas for the data / Data entered in order / in format

- Operator taking information over phone

- Does not allow information to be missed out / simple to use

(b) - Icons used to stand for options/when selected, command code is run/normally accessed by use of mouse or other pointing device / WIMP

- Non-experienced user / child in school

- Restricts access to certain parts of the system

(c) - Set of commands recognised by the OS / typed in at prompt/need to be learned by user

- Technician

- Allows access to whole system / does not use large amount of memory

(1 per -, max 3 per dotty, max 9)

(9)
4. - HCI is the means by which the human and the computer communicate.
(1)

5. Input to the system is of a standard type

Form prompts the user to ask standard questions

in the correct order

Ensures that information is in the correct format

Validation checks are easier to set up

Clear indication of where and what information is to be entered

Can automatically determine different routes dependent on entry

Labelled boxes to make system easy to use

Important data cannot be missed out

(1 per point, max 4) 
[4]

6. Advantages:

-Entire system is available to the technician

-Access to the particular part of the system required is gained more quickly than using other types of interface.

Disadvantage:

-The technician needs to know the commands that are available

-The technician needs to understand the way the system is designed so that it can be navigated efficiently.

(3)
Note. The language used in this answer is not the sort of language that a candidate will use in an examination. Don’t worry about this. Answers like “so that you can get around the system” are perfectly acceptable.

7. - Form type interface

- Catalogue number

- Space for the description of goods which will be filled in by the computer itself

- Spaces for computer to produce availability and price

- Laid out with spaces for input.

(2)


What is just as important here are the things that would not be on the screen. The question makes it quite clear that there is no ordering going on, so spaces for name and address, or method of payment, are not only going to score no marks, but will probably be penalised because they demonstrate that the candidate has not understood the question. In this type of question it is important to demonstrate that you have taken the situation into account.

